D0/D0 bar Ratio by counting the number of entries under the peak

I am comparing the two plots shown below. The left plot is the D0 and the right plot is for D0bar. 
Cuts on the left plot: (cuts in pico file: chargeK<0&&chargePi>0 &&|EtaD0|<1.85&&|Cos(θ*)|<0.6) + (offline: 50 < |slength| < 400, |D0dcaPV|<300, TrackDca<200, pPi>0.7, pK>0.7, gRefMult>50)
Cuts on the right plot: (cuts in pico file: chargeK>0&&chargePi<0 &&|EtaD0|<1.85&&|Cos(θ*)|<0.6) + (offline: 50 < |slength| < 400, |D0dcaPV|<300, TrackDca<200, pPi>0.7, pK>0.7, gRefMult>50)

[image: ]
Left Plot 
S/N ~ 5.98 , 
Number of counts under the red line (1.83 – 1.89) = 31627.3
Number of counts under the black line (1.83 – 1.89) = 31726.4
Number of D0 counts under the peak after background subtraction (bottom plot): 90.182

Right plot 
S/N ~ 4.93
Number of counts under the red line (1.83 – 1.89) = 32947.1
Number of counts under the black line (1.83 – 1.89) = 33035.4
Number of D0bar counts under the peak after background subtraction (bottom plot): 75.9341

In the following plot I added a cut on the rapidity of D0 to be < 0.5 
[image: ]
Left Plot 
S/N ~ 5.35 
Number of counts under the red line (1.83 – 1.89) = 26491.5
Number of counts under the black line (1.83 – 1.89) = 26572.6
Number of D0 counts under the peak after background subtraction (bottom plot) : 73.8443

Right plot 
S/N ~ 4.50
Number of counts under the red line (1.83 – 1.89) = 27583.3
Number of counts under the black line (1.83 – 1.89) = 27660.8
Number of D0bar counts under the peak after background subtraction (bottom plot):  63.4309
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D0/DO har Ratio by counting the number of entries
under the peak

1am comparing the two plots shown below The leftplot
s the DO and the right plot is for DObar
Cuts on the left plot: (cuts in pico fie:
chargeK<08&chargePi>0
&&[EaDO|<1.8588|Cos(0°)]<0.6) + (offine: 50 <
[slength] < 400, [DOdcaPV|<300, TrackDea<200,
PPi>0.7, pK>0.7, gReMMul50)

Cuts on the right plot: cuts n pico file:
chargeK>08&chargePi<0
&&]EaDO|<1.8588|Cos(0°)]<0.6) + offine: 50 <
Islength] < 400, [DOCaPV|<300, TrackDea<200,
PPi>0.7, pK>0.7, gReMMult>50)




